COMPUTER SOFTWARE APPLICATION Level 1

QD layer filter the proxy firewall. /.......... TR YT HraRard &I ftheex ®HRdl % |

1) Application / TR HRH
2) Transport layer / E\'mthé TR
3) Network Layer / g TR

4) none of these / E:FQ I aﬂ‘s‘ :1??[
Q 2) Asymmetric key is also called/ S BB . . ... W wed % I

1) Secret key / Tihe Bt

2) Public key / Ufetidh bt

3) Private key / ms%rc’ Gl

4) none of these / s:n?r I aﬂ‘s‘ T&pf

Q 3) In an authentication using symmetric keys, if 10 people need to communicate, we need keys. /

AT B BT TN HRd g THTUNGRUN B Al 10 AN DI HaTG B DI oRexd o, AT 8H ... ...... DB
A B |

1) 10
2) 45
3) 50
4)90

Q 4) PHP is a language which is / CIER] GG % S % |

1) server / IR

2) loosly typed / &1 ¥ T3y e fobar T % I
3) client / FARIC

4) system / R

Q 5) fopen () function in PHP is used to / T T& O T BIUA () HaRH &I WaRT Ffugarg |

1) open files /W@ﬂe{

2) open folders / PIeeR Wie

3) open remote server / e gk & @
4) none of these / 37‘@ I ﬁé :|_Eﬁ

Q 6) How PHP files can be accessed? / oY g o Wl%?ﬁ qb B UE?IT NIKSEXI %?

1) through web browser / I SITSSR & RT
2) through web server / 9 IR & gRI

3) through HTML files / Td < TH TA 12dl & gRI
4) all of these / T

Q 7) AJAX stands for/Q@fQWaﬂ S{Zf%

1) asynchronous javascript and xml / W ATy 3R TR TH Uof
2) advanced JSP and xml /W@TW | @TQWQT{W

3) asynchronous JSP and xml / GW:ﬁ S g dt 3R TR THTA

4) advanced javascript and xml / Tedig \_rl'lﬂ'l'@?_g GHT TN THTUA

Q 8) A dial-up connection enables to connect to ISP using a / STI-3U FARM.......... P IUTNT IRb
TS TY Ut P e B3 H G S8 |

1) Modem / ATSH
2) Router / AM$HRX
3) Gateways / Ted
4) Bridge / fsiol

Q 9) DNS is an Internet service that translates domain names to or from /3 TS S eHe a1 %
NEEATTES . FA VI BT HHFATE |

1) MAC address | A Q@H
2) IP address / 318 ot Qgﬂ



3) both of these / GIHI

4) none of these / Rtk EF-EF 8l

Q 10) What is used to identify a user who returns to a Website? / 89S TR Tlie- dTel SUTNTH ! o1 UgaT
P & o o IuanT foa e 82

1) Cookies / abIol
2) Plug-ins / WIT-5H
3) Scripts/

4) ASPs / T T Ut

Q 11) The JavaScript’s syntax calling a function/ method is / TATTEpY RFCHR HhaRMH/MAYS Hd1 8
1) Primary expression / m QWQW

2) Functional expression / RIS TR
3) Invocation expression / sqahw Qﬂﬂﬁ!ﬂ:{
4) Property Access Expression / NI TR TRIDRH

Q 12) What is the maximum size of an IP packet for IPv4 or IPv6? / IPv4 I IPv6 & 1%111 G'I'Ié o O%e BT
UG TH IS TSI 8 2

1) 65540
2) 65535
3) 65577
4) 67544

Q 13) Which of the following are JavaScript optimizers? / 9 & ®F Srarfeey PSR g9

1) JSMin / ST
2) Packer / DLy
3) Minify /

4) Both JSMin and Packer / @lﬂﬂﬁﬂ GﬁT aﬁ Eﬂ:h

Q 14) In the digital signature technique, the receiver of the message uses to create plaintext. / Sfored

TP H Y AR W ST p e . ... ... .. HTTANT HIATE |

1) sender public key / YR UfeTad I

2) her/his own public key / 3UAT UfeTds @1

3) her/his own private key / 3{U-T EI'I%Q'C’ Gl

4) her/his own symmetric key / Ul ﬁlﬁ?ﬁ Cdl

Q 15) If user A wants to send an encrypted message to user B, the plaintext is encrypted with the public key of

/ TS AT T, uﬁwéﬁaﬁwmmdmm%?ﬁm«waﬁ .......... UfedTe BT 9
WW%|

1) The network / Feadh

2) user A/ TS Y

3) user B / YIS off

4) none of these / 37‘@ 9 ﬁ'&‘ :‘_Eﬁ

Q 16) Which one of the following databases has PHP supported almost since the beginning? / frafafad seey
A fore T I 9 & O I O 9uie gt ®

1) Oracle Database / 3RHA STeTad
2)SQL / TH T

3) MySQL / THaTS TIagEd

4) SQL+ / THaU +

Q 17) Which statements is used to create a table? / g were HT TN CTd T & 1%‘1? _E?I?IT % ?

1) CREATE TABLE table _name (column_name column _type); /T8 El:lTQ éﬁ AH @IV?F:[ H W\IJW_E'IE'CD;
2) CREATE table_name (column_type column_name); / §-ITQ éa?f A @I?ﬁ:f CIEE W ATH);
3) CREATE table name (column name column_type); / §-IT¢ c&d_AMH (OhIQ”IH A HiaH - CIgU);
4) CREATE TABLE table_name (column_type column_name); / <8l §-T¢ cda_ATH (GbIQﬂ-I_E'I%'q W\I%‘m_?ﬂ:l);

Q 18) The datatype best suited to store currency values / HYT & A BT R B & [ SIGEES
T Iuged &



1) INT / 318 TA ¢t

2) DECIMAL / S9Hd
3) DOUBLE / 8§

4) FLOAT / JIC

Q 19) PHP variables are preceded by / Ml .. ... & Ugd 3T % |

1)_
2)@
3)$
H&

Q 20) What will be the output of the following PHP code ? / 19 Ut Ta T} 1S FT 3T3cYe &1 1T 2
1. <?php
Q)

]

2

3

4, “hi%;
5. |

6. >

1) infinite loop / 3~ qU

2) hi

3) no output / H13 3MICYC 8l
4) error / Z%

Q 21) The first step in processing form data is to the input. / T STeT Bl TR B &6l Uedl daH
R0 SO g

1) validate / TciS€
2) Capture

3) Storage/'é?ﬁf

4) Manipulate

Q 22) Which function removes the slashes that are added by magic quotes? / AT Pie T T faat Rar (ﬁﬂ)
I DI A AR Gl § ?

1) stripslashes()
2) c. isset()

3) unset()

4) addslashes()

Q 23) The JavaScript class represents regular expressions, and both string and define methods

that use regular expressions. / SEpy ... ... ... Tt fFafir sioie & SardT 8 3R Y @TT MR
.. SURYS DI

1) RegExpObj
2) RegExpClass
3) RegExp

4) StringExp

Q 24) JavaScript Code is written inside file having extension / ARy HIs B URICMA arad
BTEd & SieR [T S |

1) jvs

2) .jsc

3) .javascript
4) js

Q 25) JavaScript Code can be called by using / AP IS Bl ......... BT ITANT HRD ENll JHag |

1) RMI / 3R TH 31
2) Function/method / TraRTH AYS
3) Triggering event / Sa? Eal GRS

4) preprocessor /

% 26) Which of the following is not considered as an error in JavaScript? /g fd Srarfese o ZI% EEEIEG]
2



1) syntex error / FICaT ‘a’%

2) missing semicolons / IHftwIa &1 qﬁf Eﬁ:ﬂ
3) division by zero / X[ J YT

4) all of these / Tt

Q 27) JavaScript can be written / ARy o1 forar S gadn %

1) directly into JS file and included into HTML / Tt¥ 0¥ B13a # 3R U= &t UH Ua H =NfAa foan o Ihat §
I

2) directly on the server page / ) TR U A ferar o wemar % |

3) directly into HTML pages / e g & vH U O | forar o Idar gl

4) all of these /g

Q 28) Javascript is language. / AP TDH . ....... GG % I

1) programming / SIplIEED
2) scripting / fenfo
3) Application /

4) none of these / T A PIS &l

% 29) The syntex for Integer Variable in JavaScript / Sarfery A sfeoR aRTsa w fom Ricew. . ...........
I

1) int num;
2) integer num,;
3) Integer num;
4) var num;

Q 30) Which is not a built in aggregate function in SQL? / T R Uel H ghd o | o :la 1 % ?

1) avg
2) max
3) total
4) count

Q 31) Java Script Variable should be Case __ / SIEIE:RY aﬁ'@ﬂ Gk 2x: D g e |
1) sensitive / B CLBRI]

2) non senstive / i
3) both of these / AL

4) none of these / 37‘@ T ﬁé :l_Eﬁ
Q 32) Every thing treated in HTML DOM is / TacIuHTd BT I sgagiid wft e %I

1) node / s

2) element / Qfﬁﬁ?f

3) attribute /Q@E’{C’
4) all of these / T

Q 33) What is the work of the form control elements in the HTML DOM? / Td | THUA SHH tﬁ\lﬁa@a
TAHc BT HR E 2

1) User Interface elements / JoIX EGRU R RUiEr

2) all possible elements / FHT HHT TelHe
3) debugging elements / Stefin uefie
4) none of these / 3?!13[ I Tﬁ_&; '_-@:f

Q 34) Which forms the highest layer of TCP/IP and divides a message over file into smaller packets which are

transmitted over the Internet? /ﬁ:l?.pf@ftﬁ/ Gﬂ'sctﬂﬁ JFdH IR FATT % GhT mlsmfﬁmaﬁ@ﬁ%ﬁ%
B fquiiord o= § S $evrie W URf

1) TCP /<1 &t O
2)1p/ 38 Ot

3)Telnet/é?le|?.'
4)FTP /U% &1 Y

Q 35) Which operation is allowed in a join view? / SdIg- alﬁ DI T TR S{JHd % ?



1) UPDATE / 3[0S¢

2) INSERT / 39¢
3) DELETE / {&diie
4) all of these / T

Q 36) Join types in join condition / SATSH SIRM ﬁﬁm‘d@qﬁ?f%

1)2
2)3
3)5
4)7

Q 37) Input message in Cryptography is called / W’@F‘T | 93 B2 P Fed g |

1) plain text / T CRe
2) Cipher Text / ISR ¢aRE
3) both of these / GIFI

4) none of these / ST A DI T8l

Q 38) Cryptography is used in transforming messages to make them secure and immune to / w AR

Hew b QAT TG R ... [ YT & & U g |

1) changes / gfad

2) attacks / GHCT
3) failure / B AT

4) none of these / T 9 1S el

Q 39) In the figure Number 1 is / 3 H TR 1 %
Optical cross-connect

ot vk atn

1) wavelength router / W %ﬂf AHR
2) wavelength conversion / d_1 2of ufkada
3) wavelength switch / A 2ol Rew

4) none of these / sqfr I ﬁs‘ Tgf
Q 40) The figure is of topology. / A% ARG . ....... ISl % |
—

—

1) star / I}R
2) Bus /&8
3) mesh /B
4) Ring / 1

Q 41) A collection of computer clickable buttons is a bar.\db X T fad® ®H a1y gl &1 998 Th
EIR

1) title \cTgCel
2) menu\ﬁ:j\

3) tool\gdl
4) status\@_dﬂ

Q42) language is the lowest and most elementary level of programming.\ TS UITTET ovas Bt
Yo FH IR TG YRS TR BI Ao 21



1) Binary\a'lg:RD[

2) Assembly\\?ﬂﬁa?ﬁ
3) Low Leve\@ dad
4) Machine\FRIH

Q 43) COBOL and FORTRAN programming languages can be best associated with generation of

computers. \¢Idld@?%l€dlﬂmwmﬁ %ﬁwﬁa%
1) firstggait

2) second\gﬂil
3) third IR
4) fourth\aeft

Q 44) is the unit to measure data transfer.\ ST W &I AU B Wlé %

1) MHz
2) DPS
3) MBPS
4) DIPS

Q 45) extension refers to the Backup file.\ Qaﬂ%‘\’l:f B3y 'JEN] Ca dq d Har %I

1) .BCK
2) BAK
3) .BKP
4) BCP

Q 46) is also known as flash BIOS?\ AR BIOS & =0 H ) SH1 Sirelt %

1) EEPROM
2) RAM

3) PROM

4) EPROM

Q47) is a named area on a disk that is used to store associated files.\ f$¥® H 2 GIER] aﬂ %
foraepT STt et wrgel &) TUEd B & o fbar srar 21

1) Tab\eq

2) Window\fdSIST
3) Bar\dR

4) Folder\ I8

Q 48) Software that can be downloaded without paying any cost is known as Mo e & seAars
foba ST aTeT §HedmR  deaar e

1) firmware\PHATRY

2) extraware\URAAY
3) freeware\TPIATR
4) openware\\’rﬁ'qqafﬂ

Q49) software is a computer software that helps a programmer to write and execute computer

programs.\ IR U HCX AMUCATR ¢ Sl HER T forg iR TRiTRIE $H3A & g TR
B HEE BT 8

1) Application\?@ﬁw:f
2) System\RIEeq
3) Utility\gfeferet

4) firmware\

Q 50) Which of these is not a system software?\s_rlﬁ I ?ﬁ:{ 7 RReH qioeamR :%3[%"

1) Operating system\m R

2) Railway Reservation software\XTd STREUT AIHCaTR
3) Compilers\mﬁ?ﬂ

4) Interpreters\g

Q 51) Network transmission speed is greatest in network.\Aead TR B T Jegd o gay
S Bl B



1) LAN
2) WAN
3) MAN

4) all of these\SURTad T}

Q 52) Network is the overall physical design of a computer network \eadh HHR Yeqd &I
T Hift® fSosa g 1

1) Protocol\MTCIhidl

2) firewal \ThTIRATCT

3) architecture\3{TheaRR
4) terminal\efHd

Q53) command in Windows operating system is used to cancel the last action or command.\ daie

it Rew HUTS BT IGANT T fohar a1 S B g, HRA & forg [ oar 21

1) Delete\fSdlle

2) Undo\3{1g
3) Redo\3g

4) Trash\?:QT

Q 54) Which of these binary representation is not an odd number?\s:ref I ﬁ:[ B3l aﬁqﬁ iy Tdh fowm T
T2

1) 11001

2) 11100

3) 10101
4) 11011

Q 55) Which of these is a system software?\sqﬁ I ﬁ:f 7 RReH gloeadmR %‘?

1) Operating system\m frer
2) Word Processor\ds

3) MS Word\H TH 78

4) Browsers\SIT3SR

Q 56) WWW stand for A WWW &1 guien g2

1) Wide World Web\dT38 ¢S ad
2) Warm Width Web\ aTH fagy a8
3) World Wide Web\aes dIgS dd
4) Wild Width Web\dT3es fagy a9

Q57) converts high-level language code to machine (object) code in one session\ I TR HTHT

PIS Bl Th T3 H AR (3ffeoide) Hie H gad

1) Compiler\dh HT IR
2) Interpreter\ :
3) Assembler\

4) none of these\3TH J DIs ol

Q 58) Multitasking and Multiprocessing is based on the concept of AP 3R Hed TR
P YR TR YR 3|

1)i/o sharing\ﬁ'ﬂ_sc / 3 =T

2) CPU sharing\CPU

3) Printer sharing\m T

4) Memory sharing\ﬁ'ﬁhﬁ IR

Q 59) A file having the extension .XIs is a ﬁle.\m Xls WWW W@?ﬁ %I

1) text document\CHRE W’C’
2) spreadsheet\@g‘\’ﬁ?f

3) image\?ﬁlﬁ
4) sound\¥ 38

Q 60) is known as the father of Computer Algorithms .\ Eal HYR TE YA & Uard g d



ElEIIRIE
1) Charles Babbage\a'lﬁ‘:faaﬁ

2) Von Neumann\dI<
3) Donald Kunth\SITeE Py
4) Bjorn Borg\ﬁh:fa.ﬁ:

Q 61) A nibble is equal to AT e F R 8

1) 4 bits\4 focg

2) 4 bytes\4 dIgcH
3) 16 bits\16 focH

4) 16 bytes\16 1Y

Q62) can detect computer files whose contents are broken.\ 3+ W PIENICIRGIRSHI
T & fSFd Fec TawT 3 g T gl

1) Disk defragmenters\%@ Sipwed
2) Backup utilities\§&3T gfeferdtst

3) Archive utilities\31fua gfeferdtsr
4) Disk compression utilities\[S¥H HHRE Wﬁf

Q 63) Which of these is not an application software?\_i"_‘lﬁ AH Th Q"@ﬁﬁ? TIFEAWR '_‘féT %‘?

1) MS WordM S T8

2) Compiler\hHTZ TR

3) Spreadsheet\

4) Payroll system\aﬁﬁ Rreen

Q 64) In an email what does BCC stands for?\g-ﬁﬁ A dii=dft &1 EUTW T _bﬁT‘IT %?

1) Blind Carbon Copy\&iTg S PHIa PHIUt
2) Blank Carbon Copy\W P BTt

3) Blank Character Copy\ﬁfﬁ PHGeR BIOY
4) Blind Customized Choice \STS S BHCHIRISS Y

Q 65) Which of these is not one of the folder views available in Windows operating system"\%?af JHH AT
faes siToRfeT Reew #f Iuasy Wice g & A T g o2

1) Thumbnails\J=d
2) Cascades\®HRHS
3) Details\fSce

4) Titles\CIgCH

Q66)  command in Windows operating system is used to cancel the last action or command.\ dar

SffoRfeT Ren DTS BT IGTNT e foham 1 3SR B I, R B forg far oar 2

1) Delete\fSdlie

2) Undo\3{g
3) Redo\¥1g

4) Trash\?'-‘ZT

Q 67) Programs written in HTML language can be interpreted through AHTML HTST ¥ ford 778 umsy
Edl & HIEH Y SHRAT D1 Sl ebelt

1) Compilers\m

2) Interpreters\
3) Scanner\

4) Web Browsers\dd & 3o}

Q 68) Which of these shortcuts in Windows 7 operating system is used to minimize all open windows\[dSISl 7

SHTRFT Ren o 278 q o9 I Aiawe Tt Geft faSier & firiuTes %= & forg IuinT fasar Sirar g2

1) Windows Logo + L
2) Windows Logo + C
3) Windows Logo + M
4) Windows Logo + K



Q 69) Which of these key combination in Windows Operating system is used as a shortcut for Refresh ?\E:Tff J

P T Bt T SIS ITIRET RReH H Refresh P 1T Wédhe & U H IUTNT foham oIl 82

1) F2
2)F5
3)F7
4) F9

Q 70) Frequently used instructions in a CPU are fetched from \?ﬁtﬁ'{ﬁ SR IYGHT fabt 1T
e ARmERE

1) Hard Disk\8TS fS%F
2) Cache\

3) ROM\IH

4) RAMRH

Q71)By defa%lt, MS Excel aligns numbers to the el =1 ﬁ, THIH Qﬂ%ﬁ Tl & H
] HRAT Bl

1) lefo@rd
2) right\STY
3) middle\HET

4) none of these\3TH & aﬂ‘s‘ I8!

Q 72) Arranging elements like title, header, pictures , tables etc in an presentation is known as Alea) Qﬁﬁf

& ¥, BeR, 2, 29eT ST O SO B AR FA T pEA D

1) pattern\a?:f
2) scheme\¥h1H
3) design\

4) layout\a@rﬂB_C'

Q 73) The network layer concerns with which of the following? / Jegd AR Fofaled o @ fead wefed g
&

1) bits/ fecq
2) frames/ pasi
3) packets/ ﬁ%@r

4) none of these/ T 9 P Tol
Q 74) In virtual circuit network each packet contains/ a%jsm gfdhe Aedd § U Ude 8 B %I

1) full source and destination address/ U;Uf@ﬁ 3R Tiqe &1 ual
2) a short VC number/ U BT ve TB

3) only source address/ Had AId Idl

4) only destination address/ Fad Taed Ul

Q 75) Physical or logical arrangement of network is/ Jead ot iored a1 ATl d aawT 3-
1) Topology/ EEINIS

2) Routing/
3) Networking/ Jeafd

4) none of these/ ERtE ﬁ'ﬁc EEl
Q 76) In this topology there is a central controller or hub/ T8 ELINIEIE] @@a Eb_gff@T g9 BIdT &-

1) Star/ I€R
2) Mesh/ AT
3) Ring/ &1
4) Bus/ §9

Q 77) This topology requires multipoint connection/ ¥ TIUTdro o folt Aeclulge HaRM &1 JTaIHl gidl

1) Star/ IR
2) Mesh/ ST



3) Ring/
4) Bus/ 99

Q 78) Which of the following is a layer of protection for Security ?/ faferfaa 5 9 o w G ReIRENIE
AR BN &

1) Platform-level protection/ WewH-Aad UieaRH

2) Application-level protection/ UGB H-dad WcaRMH
3) Record-level protection/ fpls-dad MieaRH

4) All of these/ T Y

Q 79) Irreducible BER floor is created in frequency selective channels due to / _&'%@ﬂﬁl—@m BER TR
Cal & HRU I Yafded Ial § ST ST g

1) Intersymbol interference/ mﬁ m
2) Random spectral spreading/ I5H Ui HIg TR
3) Time varying Doppler spread/ JHITTIAR gikafdd STIeR TR

4) Blind speed/ SIT38

Q 80) DHCP uses UDP port for sending data to the server./ TR B STeT HoM & fa DHCP UDP
BT TN Bl 5|

1) 66

2)67

3) 68

4) 69

Q 81) What are the different view to present a Table ?/ Udh 9d B vefRid B & i i g T %‘?

1) Datasheet View/ ScrRfle 3’1

2) Design View/

3) Pivote Table View/ ﬁﬁf o§d g
4) All of these/ T T4t

Q 82) In which state one gathers and list all the necessary fields for the database design project? /&eTad f& 5‘7‘|
Toide & fore fog fRufa # 15 @it srawge qwl &1 5oyl iR Teliag Fare?

1) Data Definition/ STCT SR

2) Data Refinement/ ST e

3) Establishing Relationship/ e =1ftd HA
4) none of these/ 3_"|'Ef J ﬁ%ﬁ '_ﬁ)f

Q 83) A transaction is delimited by statements (or function calls) of the form / Gk
T TIoaRM W (1 havH Hic) gRT Hifdhd Bt Sl g

1) Begin transaction and end transaction/ ICREKASENBREIR Q‘s’ a@a@m
2) Start transaction and stop transaction/ e E'Iafﬁ'ﬁ 3R ETC[ E'Iaal‘\’l:f
3) Get transaction and post transaction/ e E'lﬁ?-‘?l:[ 3R URe

4) Read transaction and write transaction/ '\ﬁ@'{ E'IaER’FT 3R éa E'I@TR'F‘T

Q 84) What type of join is needed when you wish to return rows that do have matching values?/ S 310 3
Ufaal 1 e X1 16 & ST 7 W5 8Id1 § 09 [ TSR & Siled &1 SATaRadhdl gl § ?

1) Equi-join/ 3f@-Siga

2) Natural join/ TgRd Sl1g
3) Outer join/ 33T S
4y All of these/ T oY

Q 85) Which of the following is not an example of system software?/ fFoffead a HIT R e ddR &1
Teh e el 2

1) Language Translator/ e @W

2) Utility Software/ gfcec! AHeddR

3) Communication Software/ Wm:[ IeamR
4) Word Processors/ TS TRRR

Q 86) Point out the wrong statement :/ TTId P YT B M B




1) Stored procedure can accepts input and output parameters/ ﬂ'ﬂ'%?f gfesar ?19c 3R 3{13cYc R BT
SR IR Gl &

2) Stored procedure can returns multiple values using input parameters/ 14C RfTex &1 UaNT HRP Jufgd
Ufehar 58 A 1 R o gobell &

3) Using stored procedure, we can Select,Insert,Update,Delete data in database/ W‘%ﬂ ufesar &1 T W, L
STTey § STeT 1 e, 3UE, 3US T, [Sale X Ihd §

4) none of these/ E_FTEI J ﬁ_sc '_ﬁ)f

Q 87) What kind of language is Javascript?/ SATREAY o UHR B U Bl %?

1) Programming/ T
2) Application/
3) Scripting/ j

4) none of these/ Bt ﬁ'ﬁn 8!

Q 88) Which of the following function of String object creates a string to be displayed in a big font as if it were in

a tag?/ TR 3ifsolae o1 FARfRad & § ST thavH 53 Bive § Uefid 81 & fou e
R a7 & R s ag &

1) anchor()

2) big()
3) blink()
4) italics()

Q 89) PHP files have a default file extension of / PHP tb—lg?h |

o1 fShlee WIEd RIS Bidl g

1) html
2) xml

3) php
4) ph

Q 90) A PHP script should start with and end with __ / Uch PHP f&pp

I I 3R W TH g =Ry

1) <php >
2) <?php 7>
3)

4)

Q 91) Which of the following is designed to control the operations of a

computer?/mﬁﬁﬁ HCR o e oI R B & g
f&eieT fopa mar g2

1) Application Software/ TEh Y ATedaR
2) System Software/ few AiteaR
3) Utility Software/ gfcieic HIreddR

4) User/ oI}

Q 92) How many ways can a session data be stored?/ fd NPl o U I
STCT &I TRIT foar 511 bl 82




1)3
2) 4
3)5
46

Q 93) Which directive determines how the session information will be stored?/

I STRfacd ug fAfad #var g P g yeR InF sawme dufed
Pl ST

1) save data

2) session.save

3) session.save_data

4) session.save_handler

Q 94) How many configuration directives pertinent to PHP’s mail function are

%yailable?/ PHP & Td TharH & forg I7d fobam SR A Suasy
?

1) 4
2)5
3)6
47

Q 95) Which of the following statements is used to add an attachment to the
4 A\ \e 2\ 2\ q A e =\ =~

mail?/ FEfIREd 7 ¥ forg WeHe &1 IuaivT Ud § 3fdgHc Sied & forg

o T 82

1) $Smimemail->attachment(‘attachment.pdf”);
2) $mimemail=>attachment(‘attachment.pdf”);
3) $mimemail->add Attachment(‘attachment.pdf”);
4) $mimemail=>addAttachment(‘attachment.pdf”);

Q96) refer to renewing or changing components like increasing
the main memory, or hard disk capacities, or adding speakers, or modems, etc./

T AR A1 8BTS f83h Hufict ggM, a1 Wi , a1 HigH Iy
B e S Yeh! bl g

1) Grades/ PES

2) Prosody/ PRI
3) Synthesis/ fIARM
4) Upgrades/

Q 97) Stored procedure is a procedure where set of one or more SQL

statements are -/wﬁﬁmwﬁﬁ’rm%mwm&m

TOaUd W eHcy &I Uc BIdl 6: -

1) interpreted/ $cX fOcs




2) compiled/ Fbierd
3) pre compiled/ qﬁ EAN|
4) none of these/ STH A DS ol

Q 98) Secure () argument in setcookie function returns result :- / setcookie

R o Secure()&ﬂﬁ?wmﬁm%:—

1) In integer form/ gfeR = I
2) In string form/ @:‘I Py k|
3) In boolean form/ Q%ITF[ P

4) none of these/ STH A DI Tal

Q 99) Sizing Handles make it very easy to resize virtually any control when
developing applications with Visual Basic. When working in the Form

Designer, how are these sizing handles displayed?/ ﬁ\_{l&lﬁ CIRSER Q'l?ﬂm:l
I G 1ol g e fapd! off fuet

1) A rectangle with 4 arrows, one in each corner, around your control./ 3{TTch
PHUCIA & UM, 4 IR & 0 Ifgd Udd &1 8 Th 3ad
2) A 3-D outline around your control./ 3 Eh_UaT’f & U Ueh 3-D

3) A rectangle with small squares around your control./ 3% W &

3THUT BIC T Aigd Teb 3Mmad
4) None of these/ Eﬁaﬁgqﬁ

Q 100) Visual Basic is a tool that allows you to develop application in which of

the following? / A3 SR T IUHRUI g SNt 3! FEfafad # 9
fora TR e fapRid A & SrgHfd a1 82

1) Real time/ RO €120

2) Graphical User Interface/ qMth el goR FeXthy
EN RN

3) Character User Interface/ hXdcX guiX g

4) None of these/ STHA DI T8l

Q 101) What is used for finding out about objects, properties and methods? /

&n@gar gructol iR fafat & IR & S & fore fordet SuaiT fhar
olldl g?

1) Form layout window/ B Tei3e fdsl
2) Code editor window/ DS QI%E? fast

3) Object browser/ el STITR

4) None of these/ STH A DS ol

Q 102) Keywords in Visual Basic are words that/ ﬁ@\’rﬁf e o m q
g BId § Sl fob-




1) should be used when naming variables./ alr\wdﬂ A aﬁ g( TN @ﬁ

eIl

2) are used to name controls, such as TextBox1, Command2, etc./ a’@ﬁq P

T A B BT 3T 8, Wi cRedIdT 1, HHTS?2 3

3) have special meaning and should not be used when naming variables/

mﬁ@rﬁre{ﬁ@m%aﬁ?a&qwaﬁdméﬁwq TN gl fhd oM

4) are used as prefixes for control names (such as txt, btn, 1bl, and Ist)/ 3'70@?1'

A & fore Suf & =0 H SUANT fosar SITdT 8 (S txt, btn, Ibl, 3R Ist )

Q 103) To continue a long statement on another line, use:/ §F|€| ol UX Uch
Tl TeHe ST @ o oy, JanT or-

1) an underscore character./ U 3STHR guf

2) an ampersand character./ T Q'CI@_S' guf
3) Ctrl + Enter.

4) a space followed by an underscore character./ T 3 SIHR Ul & 91 WY

Q 104) Function templates are considered equivalent when / Tha=I] cIRIC Bl
GHDE T STl § SIa-

1) Declared in same scope/ HHIH DI H Gifvd 8

2) Having same name/ JHIT -TH 8l

3) Having identical return type and parameter list/ HHI+ fYed UpR 3R
Wt et 8

4y All of these/ T g

Q 105) Function Templates can have / g ¢Hec § EP[ NESl %—

1) Explicit instantiation definition with template argument for all parameters/

Tt TRTHeR & fo e SiMfHc & 1Y ToQIRIe 3= -=IuH
Sfhf=E

2) explicit instantiation of declaration with template argument for all

parameters/ JHI RteR & fog Swere &T@? & 1Y [SHiNRH Bl
LERI I R ERSEE

3) Explicit instantiation definition with template argument for all parameters
and explicit instantiation of declaration with template argument for all

parameters Both/ I WX & 1%111 e 3‘|'|1if|? & gy Wﬁﬁrf
SRCRMIRA SBMHRE 3R ¥

4) None of these/ ERCE ﬁ’sﬁ Tl
Q 106) Which among the following is true?/ fFafafea d 4 sHar T %‘?

1) The private members can’t be accessed by public members of the class/



A & UfeToh Akl gRT UTSAC Hay B TR g [T Sl Jabdl
2) The private members can be accessed by public members of the class/ FeIl
& UfedTd Ty gRTUTSAC Al o oy fosar S 9ehdl §

3) The private members can be accessed only by the private members of the
class/ TR & WIgdC HY Bl Had Ursdc By gRI o1 TRIY b1 ST Jobar

g

4) The private members can’t be accessed by the protected members of the

class/ T & Uicae s HEY gRT UTsde Aoy &) UaUY ol fhdT ST Gabdl

Q 107) Which member can never be accessed by inherited classes?/ 33%'@3
A RT foh s BTeR b Bt 781 Ugan ol Jobar?

1) Private member function/ MTgdc AR ThaRH

2) Public member function/ it ATaR ok

3) Protected member function/ gicae s TR haRH
4) All can be accessed/ T TP TgAT I Al §

Q 108) Which of the following mechanisms is/are provided by Object Oriented
Language to implement Object Orlented Model‘7/ Jisoiae JIRUCS Hisd oll]
TR & [T Sffeoiae SNINUCS oiasl §RT ST o UG fohdT SiTdl 52

1) Encapsulation/ Q:I%Qiﬁfﬂ:l

2) Inheritance/
3) Polymorphism/ gicHR toH
4y All of these/ T g

Q 109) When is method overloading determined? / TYS eRAST HE
iR fosam e 82

1) At run time/ X CISH UX

2) At compile time/ hHIST CISH UX

3) At coding time/ DIFST CZHA W

4) At execution time/ Q@W CIgH UR

Q 110) Difference between budgeted amounts and actual results is classified

as/ SoTc ARAT 3R IRafds TRomHl & § 3icR &1 U
iffepd fpar T §|

1) standard deviation/ HI-Ich ICENG!
2) variances/ frrar

3) mean average/ HEHIA 3 ga

4) weighted average/ iikd 3fd

Q 111) Which concept of Java is a way of converting real world objects in

terms of class?/ STTAT B I Ul STURTN FAH & T+ T IR @ﬁtﬂﬁ




gl P! uikafid HA &1 Uh dRid1 62

1) Polymorphism/ gicHR toH
2) Encapsulation/ QT‘I%GF@W

3) Abstraction/ US¢

4) Inheritance/ RG]

Q 112) What will be the output of the following C code?/ faferiRad ¢ die @
SfT3cyc I 8ITT? #include void main() { int i = 0; while (++i) { printf( H); }
b

) H

2) H is printed infinite times/ H 3-d R ficgrars
3) Compile time error/ P HIST CIgH URR

4) Varies/ U= g

Q 113) What will be the output of the following C code?/ fAafaRad c dig &1
SfT3cyc i BT #include void main() { inti=0; do { printf( Hello ); }
while (i !=0); }

1) Nothing/ & gl
2) H is printed infinite times/ H 3/Hd §1X flicgiare
3) Hello

4) Run time error/ X CIgH U

Q 114) What is the type and value of the following expression? (Notice the

integer division)/ FHIRIT 9® HT USHR SR A &1 82 (YU [qHH
W T) -4+ 1/2+2*%3+5.0

1) int -5
2) double -4.5
3) int -4
4) double -5.0

Q 115) Which among the following best describes the Inheritance?/ fAafaRaa
g A O\ N C
o T SRR BT I 3T qUiH Bl 62

1) Copying the code already written/ Ugd I ford &1 & Hidl =1

2) Using the code already written once/ Jed ¥ U dR [eRd 7T Hhls Hl
HAT

3) Using already defined functions in programming language/ YT Hrem |

UEd 9 SRS tharM &1 SUaNT Fx1

4) Using the data and functions into derived segment/ SXIg0S e § Sl

3R eI BT JUIRT H=AT

Q 116) How many basic types of inheritance are provided as OOP feature?/



0OP a8l & =0 H fhdd ISR &1 Jd 3oRe~q UaH Pi oiid g2

1)4
2)3
3)2
41

Q 117) Which among the following best defines single level inheritance?/

ggﬁfr@ﬁﬁ@raﬁﬂwm Add SoReg DI I 33T URHTNT Bl
?

1) A class inheriting a derived class/ IT'SQI%OG CHIES| &l 5"1%&(1 Bl §_5c Udh
el

2) A class inheriting a base class/ o A Dl %‘I%P&C Bl E_st Up el

3) A class inheriting a nested class/ / LS FAT Bl E:I%ﬁ_c’ Bl E_Sc Udh
CNIRS

4) A class which gets inherited by 2 classes/ Udh el S 2 A1 gRT 36 Re

gl 8

Q 118) Which among the following is correct for multiple inheritance?/

fFafafad 7 9 &9 91 g iud s9eReT & fau I8l 82

1) class student{public: int marks;}s; class stream {int total;}; class
topper:public student, public stream{ };

2) class student{int marks;}; class stream{ }; class topper: public student{ };
3) class student{int marks;}; class stream:public student{ };

4) class student{ }; class stream{ }; class topper{ };

Q 119) Which of these can be overloaded?/ fAafaRad o 9 o1 sitardrs fear
1 qHAT 87

1) Methods/ nYys
2) Constructors/ P¥cdc¥
3) Both Methods and Constructors/ AYS 3R hIcdcX AR

4) None of these/ STH A DS ol

Q 120) What is multithreaded programming?/ AU S T ot %?

1) It’s a process in which two different processes run simultaneously/ g Udh
T vfsha & forgs Gl SferT-3ienT UfehaTd Ueb H1Y Teidl &

2) It’s a process in which two or more parts of same process run
simu%gsly/%@W%WWﬁW%ﬁW 3fH HRT TH
NI

3) It’s a process in which many different process are able to access same
. I

information/ T Ueb U Yokl § oI o5 SITT-S(eRT Ufohal THH

STH®R b Uga- H T&H g




4) It’s a process in which a single process can access information from many

sources/ I8 Ueb Uioh a1 § ForaH T Uohel Ufohal b3 Aldll § SR dh
UET Tl 8

Q 121) Which of these are types of multitasking?/ ERLES| D Y T IeTp
& UPR 872

1) Process based/ Uy d%s
2) Thread based/ IS IS
3) Process and Thread based/ 7Y 3R 9 9%

4) None of these/ _Q"'Tﬁ[ | a’ﬂ_ﬁ; '_‘I_E:pf
Q 122) Thread priority in Java is-/ SIId[ T I Ui %—

1) Integer/ 2o
2) Float/ Tile

3) double/ Sdd
4) long/ oI

Q 123) Which of these is not abstract?/ 5"H?I. J DI QQ&EOPC qﬁ%o

1) Thread/ D]

2) AbstractList/ Q&%\Hﬁ’ﬁ‘l@

3) List/ fere

4) None of these/ ESUKS ﬁ's‘ el

Q 124) Which of these is not a correct statement?/ 5~‘|DI' I DT ﬂﬁ DY

TRl 82

1) Every class containing abstract method must be declared abstract/ Q&%\Tﬁf
AYS Y god TS oo fSacts Uskcde gt d1fey

2) Abstract class defines only the structure of the class not its implementation/
UK T TN Had AN BT R (SIS Bl § T [ SHD!

3) Abstract class can be initiated by new operator/ ﬁ&%ﬁﬁ' AN AT 3R
ERT% B o Jobell &

4) Abstract class can be inherited/ QQ&EOPC CNIES s#%i\ac ARSI “v’lﬁ‘ﬁ%

Q 125) Which of these packages contains abstract keyword?/ 3:“?[ I fog
AN N A fa) C
ool §f USeae H1ae 8Id 82

1) java.lang

2) java.util

3) java.io

4) java.system



Q 126) Give the abbreviation of AWT. / AWT T Gfé&ftd =TH %I

1) Applet Windowing Toolkit/ TIe fdSIgT cafdpe
2) Abstract Windowing Toolkit/ Qﬁ%ﬂf ﬁ?:?l%’rl @f‘lﬁv_f

3) Absolute Windowing Toolkit/ TsH[C fdeIsT gatfde
4) None of these/ ST A PIE T8l

Q 127) Which of these packages contains all the classes and methods required

for event handling in Java?/ SIIdI T gdc SSINUED feTT STIgh T I
Y 3 an .

3R BYE 370 ¥ HH I Udsol H =M 82

1) java.applet

2) java.awt

3) java.event

4) java.awt.event

Q 128) What is an event in delegation event model used by Java programming
language?/ STTAT SIUTERT HTNT §RT SUANT fobT STH aTel SferIRM gde Aled

H TP 3dc A7

1) An event is an object that describes a state change in a source/ Y sé‘c’ Uh
3ffsoide § ol Ueb AN § Uh ¥ T URTdH &1 a0 Bl §

2) An event is an object that describes a state change in processing / Udh sa?:’
U Sffeoiae ¢ ol U TN & Ueh ¢ URac &1 aui HRdl §

3) An event is an object that describes any change by the user and system/ Udh
2de Us Sfieoiae g off or 3R Ried gR1 fddt ot afkad &1 qufa axar g
4) An event is a class used for defining object, to create events/ Y ECAY:E
%H;Tm%%ﬁsé?wﬁﬂfwmaﬁ SffesTae Bl [T B & Y Tgad

Q 129) Which of these methods are used to register a mouse motion listener?/

IS AT =R 1 IoReR B3 P ot 398 I i At fafdy &1 Iy
far Srar 82

1) addMouse()

2) addMouseListener()

3) addMouseMotionListner()

4) eventMouseMotionListener()

Q 130) What is nature of Capital account?/ Ujrﬁ GGl El?ﬁf KT %‘?

1) Debit/ Ul
2) Credit/ STHI

3) Expenses/ oY
4) Loss/ ET&T



Q 131) Which of the following is NOT correct?/ IEEINITERRERS ST gl
Tl 82

1) Decrease in Assets will be credit/ Juf o &4l B0 8RN
2) Decrease in Liabilities will be debit/ GadT H HH! STHT BTt
3) Decrease in Expenses will be debit/ g o HHT S| aTﬁ
4) Decrease in Revenue will be debit/ o A ST BN

Q 132) A manager, who is responsible for both cost and revenues belong to

department of/ U YdYb, S ARTd 3R 3T ﬁ%mﬁwa
& faumT 4 Jeifdra g

1) cost center/ <IN G-
2) revenue center/ A1 %

3) profit center/ <ITH G
4) investment center/ BERUETS

Q 133) Larger number of manager subordinates and higher level manager are

termed as/ TSYD HM@TWW%WWH%G@W@
gl ST g

1) activity subordinates/ Tfafafer sfey
2) broader responsibility center/ ST fSTHGRY Hg

3) broader subordinates/ T 3 ey
4) activity ordinates/ Tfafafd siffs-e



Level 1 Answer key

1(\?(l)l.estion Option 1(\J)(l)l.estion Option 1(\J)::‘estion Option 1(\%(l)l.ezstion Option 1(3(1)1.esti0n Option
1 1 31 1 61 1 91 2 121 3
2 2 32 1 62 1 92 2 122 1
3 2 33 1 63 2 93 4 123 1
4 2 34 3 64 1 94 2 124 3
5 1 35 4 65 2 95 3 125 1
6 2 36 3 66 2 96 4 126 2
7 1 37 1 67 4 97 3 127 4
8 1 38 2 68 3 98 3 128 1
9 2 39 3 69 2 99 3 129 3
10 1 40 3 70 2 100 2 130 2
11 3 41 3 71 2 101 3 131 3
12 2 42 4 72 4 102 3 132 3
13 4 43 3 73 3 103 1 133 2
14 1 44 3 74 2 104 4

15 3 45 2 75 1 105 3

16 3 46 1 76 1 106 2

17 1 47 4 77 4 107 1

18 2 48 3 78 4 108 4

19 3 49 3 79 1 109 2

20 4 50 2 80 2 110 2

21 1 51 1 81 4 111 3

22 1 52 3 82 1 112 2

23 3 53 2 83 1 113 3

24 4 54 2 84 4 114 4

25 2 55 1 85 4 115 4

26 3 56 3 86 2 116 1

27 1 57 1 87 3 117 2

28 2 58 2 88 2 118 1

29 4 59 2 89 3 119 3

30 3 60 3 90 3 120 2




COMPUTER SOFTWARE APPLICATION Level 2

Q 1) function of PHP interpreter / Ut o9 Ut SexUeR &1 Oblqc%

1) translate user language to system language / Uil oiadl B RIed civast
H gea

2) create connection between ISP and server/ &ﬂ_sc oy 5] 3‘?|T ﬂ?ﬁ' % CIE)
HaR FI

3) process the PHP and HTML files / 5j] ud dt 3R ud | THUA tﬂg?ﬁ Gl
PISRESS]

4) none of these / STH A DIS Tl

Q 2) Hardware or software designed to guard against unauthorized access to a
cN n . i (o g

computer network / BTSAUR T B AR oY Hex Acdsh H UTfghd

YA b & AU AT ST 8, Fed o

1) Hacker-proof program / %W U I
2) Firewall / BTGl

3) Hacker-resistant server / %Wi‘%l@? TR
4) Encryption safe wall / U ®E IW aid

Q 3) Dynamic web page / SIS dd US] %

1) same every time whenever it displays / Udd R aa"r old HHL gg fearan %’
I

2) generates on demand by a program or a request from browser / ORITH ¥ Ji1 T

B T STISoR ¥ 3Ry e R UgT e g |

3) both is same every time whenever it displays and generates on demand by a
program or a request from browser / TP SR Eﬂ:h HJHTA 6\Idl % e HHT g
THITH § AT 8 1 S8R ¥ SRy e R feardr sk Uer #xar g |

4) none of these / gjﬂéf @ aﬁ's“ :lgbf

Q 4) Which statement is used to check how MySQL would execute a SELECT
query? / ATSUIHUA Joide 1) ! [ UHR T BT UD! oid HA b
fog forg Tete HTUART BTaT 3 2

1) TELL / <@
2) SHOW / 20
3) DISPLAY / f&&i

4) EXPLAIN / ToRT@H

Q 5) Which one of the following function is used to send an email using PHP

seript? / Ut Ta Ut fpT &1 TN dRd U SHT HolH & fore 9 fvd thar=
HTUANT BT S ?




1) mail_send() / Ad_T&()
2) send mail() / ¥S HT()
3) mailrr() / AASMRIAR()
4) mail() / H()

Q 6) Which statement is used to add an attachment to the mail? / IGENETS)

WTHE &1 TN Hd Y $(egHe Sig- & fu gl g 2

1) $Smimemail->attachment(‘attachment.pdf”);

2) $mimemail=>attachment(‘attachment.pdf”);

3) $mimemail->addAttachment(‘attachment.pdf’);
4) $mimemail=>addAttachment(‘attachment.pdf’

Q 7) Result this code is / ¥ HIS BT URUMH gdm

function printArray(a)
{
var len = a.length, i = @;
if (len == @)
console. log("Empty Array™);
else
{
do
{
console.log(a[i]);
}
while (++i < lenj);
}
}

1) Prints the numbers in the array in order / WA HH Y TR B! flie Hrar % |
2) Prints the numbers in the array in reverse order / W H gfddpd I TR DI
fife T g |

3) Prints 0 to the length of the array / WP F‘WI% T o flic ®xar % |

4) Prints “Empty Array” / “Empty Array” flleparg |

Q 8) Which object is the top of the hierarchy? / P T 3Telae YashH o iy
Wg?

1) form Object / ToTH 3fTestae

2) document object / Slqc&l\ﬁl‘d 3{Tsolae

3) Window Object / fdS! 3fTesiae

4) form control element / B m Taiye

Q 9) The correct query for the given code is / o0 T PIs BT He Uy %—

SELECT Dranch_name, COUNT (DISTINCT cusfoeer nase

GROUP BY branch id

HAVING ang balance

1) The having clause checks whether the query result is true or not / %ﬁ”’[

FATSS I BT ¢ [ UY DT 5 To! & 171 |
2) The having clause does not check for any condition / %ﬁm FAT3S g i




5l Bl & b U9 &1 5 el § 1 77ed |
3) The having clause allows only those tuples that have average balance 10000

a%ﬁl?g FATSS Had 3761 <Ud BT STHN T & TorIepT Sd 9e¥ 10000
|
4) none of these / 37173[ q aﬁ's‘ :l_egl

1) repeater / RO
2) switch / g

3) hub /8§
4) Modem / ATSH

Q 11) Which of these key combination in Windows Operating system is used

as a shortcut for Find 2\[dSIoT Wﬁl@ﬁ?ﬁﬁ@ﬁqmﬁw
find & foTT Rfdhe & TU H SUUNT BT SI1dT 82

1) Ctrl + P
2) Ctrl + F
3)Ctrl + D
4)Ctrl + Z

Q 12) Which of the following is not an official version of Windows operating

system?\ZTH ¥ B A1 fdSieT SHTORfET Riew &1 Sifdigrd Teamiur 7g 82

1) Windows Office\fdeIe 3iTthy
2) Windows MEMdSIST ME
3) Windows xXp\fdeis Xp

4) Windows Vista\[dgIot faxer

Q 13) Which of these executable files is responsible for starting MS Word?
Y EN [ N .
\STH ¥ B A TRIG T BIsd TH T T L= B o 1018 AT 62

1) Winword.exe\[d7ds.exe
2) Word.exe\TS .exe
3) MS Word.exe\M S TS exe

4) WinWizard.exe\faAfaoIS exe

Q 14) Which of these shortcuts in Windows 7 operating system is used to



display the address bar list in the windows explorer?\laélk_ﬂ 7 TR e H
. e EN v ~ N S LY

T 370 W DI 91 Yiche e TRTERR H TgY IR gt I UG Rid &

& e ST fran S 82

1)F1
2) F3
3) F4
4)F5

Q 15) Which function in MS Excel is used to join two strings?\UHUTY QEFQT“[ H
DI I HaRM & T B TS BT HH HRAT | 2

1) JOIN

2) ADDSTR
3) CONCAT
4) STRJOIN

Q 16) Which of the following is an output device\FEH I D U
3T3eye feaga g2

1) Speakers\@ﬂa'ﬁ
2) Mouse\HI3 Y

3) Webcam\dghH
4) Scanner\¥H=R

Q 17) What does I in the full form of MICR stands for:\MICR & U;UTW Tl
& HT 3 g2

1) Ideal\3MTSfSa

2) Indented\§ScS

3) Integrated\gﬂ'ae_er
4) Ink\§P

Q 18) If a word document have been Marked as Final , then which of these
operations can still be performed on the document?\Tf¢ U Js sm@'c G|

A . v o .
wIsd fifgd fooar mar ], @ fhr &9 1 Tarem ot off Siagde & fear s
bl 57

1) typing\?lgﬁm

2) editing\

3) prooﬁng\?ﬂﬁv_ﬂ

4) none of these\STH I ?ﬁ‘s‘ Tel

Q 19) Which of these E-mail features is used when we do not want one or
more of the recipients to know that someone else was copied on the message?

\&TH O B It 3.0 glaursit o1 SuTRT {1 SiTd § 59 g9 U AT e




1) ACC
2) AC
3) BC
4)BCC

Q 20) Select the odd one out:\3ETd Gl .

1) Netscape Navigator\a?ﬂa?—q AfaTex
2) Opera\Gh'an
3) Chrome\Sh1H
4) Linux\fe e

Q 21) Select the odd one out:\3TFTd Col| ﬂef

1) keyboard\aﬂ@é
2) monitor\HI-cR
3) scanner\TpIR

4) web cam\ad &HH

Q 22) Which of these key combination in Windows Operating system is used

as a shortcut for Redo NdSIT Wﬁﬂﬁlﬂﬁgﬂﬁ@fﬁ?wﬁw
3 & o icwe & U T IuFIT fohar Sran 82

1) Ctrl + N
2)Ctrl +P
3)Ctrl+Y
4)Ctrl + Z

Q 23) Select the odd one out\3 T Qo .

1) RAM\YH

2) Modem\HISH

3) ROM\IH

4) Hard Disk\gTS fo%®

Q 24) Which of these key combination in Windows Operating system is used

as a shortcut for Refresh ?\3_"Iﬁ J I ) Bl T fdSieT TRIET Rieeq
H Refresh & ol Widhe & =0 H IUANT fHam SI7dT 82

1) F2
2) F5
3)F7
4) F9

Q 25) Select the operating system produced by IBM?\&I'I_QT_Gﬂ'Qq R fAfHd



SRS RIH BT T He?

1) Macintosh\Hfdserer

2) Android\USTSS
3) 08-2\08-2

4) Solaris\ AT

Q 26) Which of these is not one of the options given to the user when he tries
o\ EN N (o o\ N .

to log out?\&TH Y P T IUTRTHA! oI fou TN fawel § T U 81 § 5a

dg TRT 13T B BT YT Pl 67

1) Stand By\%eS 918

2) Hibemate\glgiﬂﬁ_c’

3) Switch User\[&d Yo}
4) Log Off\ TNT 3T

Q 27) Wich of the following is not a image editing software?\FaferRad # 9
EN . ) N .
o[ Y[ U Sfd dUle HIUcdur :Iél %‘?

1) Corel Draw\®Rd ol

2) Photoshop\
3) GIMP\GIMP

4) WinZip\fa=fera

Q 28) Which of these key combination in Windows Operating system is used

as a shortcut for Select All ?\ﬁﬁ@fﬁq‘éﬁﬁwwm SR
ReT T Select All & 7T U Wiche & U T SUINT {1 SI1dT 22

1) Ctrl + P
2)Ctrl + F
3)Ctuel + D
4) Ctrl + A

Q 29) Which one of the following is not a function of network layer?/

fFafaRed o 9 ST Acdd dOR BT H1E I8l 82
1) routing/ 3T

2) inter-networking/ 3R-Aeafd]
3) congestion control/ ol ObU(;\\Iﬂ

4) none of these/ 3'_‘|ff q ﬁé :T_GQ[
Q 30) What are security controls ?/ W _OI'TQPIFH 18I %'?

1) Controls that are intended to ensure that attacks are unsuccessful/ Wgﬁ?ﬂ S

I gfYa s & for forw o11d § fob g9 3wa
2) Controls that are intended to detect and repel attacks/ ao—@aq IEECAR*IEE]




U &1 Tal AT 3R 36 eIl §

3) Controls that are intended to support recovery from problems/ a"_@?ﬂ
RTeT TR Ja ¥ Repad! o 8

4) All of these/ T THT

Q 31) Controls that are intended to repel attacks is analogous to which of the
following in dependability engineering? / @ OhCIQ’{-I SECI d‘é'(-ltl eHdl Tl Pl

<Ter 2, RO TRt Sohfafen & Fufifed 1 @ fred sreu e &

1) Fault avoidance/ WpTeC 310I\I$§H
2) Fault tolerance/ leC GRS
3) Fault detection/ WhleC GGG

4) none of these/ STH A DIS Tl

Q 32) What does DHCP server can provide for the IP addresses?/ IP Qgﬂ &
(ol
T DHCP ok T Ue™ HR bl 62

1) dynamic allocation/ STIATH® TAIHRA
2) automatic allocation/ 3TeAfed Tdlh
3) static allocation/ Kfew TAIH R

4y All of these/ T g

Q 33) In the Handshake protocol action, which is the last step of the Phase 2 :
A NN v .
Server Authentication and Key Exchange?/ 8 SRl UIC[hIc] foran ff, ol 2:

TR SRAfeH I 3R BT ToaeSl H SRR TR Hi=m 82

1) server done

2) server_key exchange
3) certificate_request

4) crtificate_verify

Q 34) Which is the key exchange algorithm used in Cipher Suite parameter?/

TR e W T Tad &1 Tagsl TERGH HIH 1 82

1) RSA/ 3ARTHY
2) Fixed Diffie-Hellman/ s fewt-gada
3) Ephemeral Diffie-Hellman/ SHhRd fSWl-gad

4) Any of the mentioned/ JeiRdd Ob\l‘.‘; i)

Q 35) Which one of the following is not a higher —layer SSL protocol?/

Fafefed & 9 DIl SRR-TIR SSL Weidid Tl 67
1) Alert Protocol/ 3[Ae Yleidpia

N v

2) Handshake Protocol/ ?S'S-‘Q\IOb MRIEAN
3) Alarm Protocol/ 3 Weipid

4) Change Cipher Spec Protocol/ S T8HR W Ulcihid




Q 36) Which one of the following is not a session state parameter?/ fAgfafad

B Y S AT W W Te 82

1) Master Secret/ HIXCX Iihe

2) Cipher Spec/ HISWR H

3) Peer Certificate/ TR giefthare
4) Server Write Key/ BSCR Tlg? o

Q 37) Identify the characteristics of transactions/ aaﬂi"l_"[ CARCRINGIRIIC]
Ugd 3|

1) Atomicity/ QRHT0GEH T
2) Durability/

3) Isolation/ Ygh b U

4y All of these/ T g

Q 38) Which of the following has ‘““all-or-none” property?/ IBEINIEREK
foaH SHTE- 3R 0T BT /7

1) Atomicity/ TRHTUGSH
2) Durability/ IR

3) Isolation/ Ysh h U

4y All of these/ T g

Q 39) What type of join is needed when you wish to include rows that do not
have matching values?/STd 3T 3 Ufdddl B1 Shs-1 TT8d & ST 714
JH 81 gidT dd fhd YR & s+ &1 ATIIHdAT glal § 2

1) Equi-join/ Sfed-Slig—

2) Natural join/ el_fRT“[ Gﬁ%:f
3) Outer join/ 33X Sligd
4y All of these/ T FHT

Q 40) Which of the following is one of the basic approaches for joining

tables?/ FEfIfad & q 19 1 2o P SigA &1 HAE IUFH 72

1) Subqueries/ BSCER]
2) Union Join/ (-G SIS
3) Natural join/ elﬂ?ﬂ SIES]
4) All of these/ PRk

Q 41) What kind of Side Scripting Language is Javascript?/ SICISE2ATES]

WRE D T5S fEpiP dawr g2




1) Browser/ SIT3WIR

2) ISP/ 35 THU!
3) Server/ IR

4) none of these/ S0 A PIs g1

Q 42) JavaScript is designed for following purpose -/ Srarepy &l Faferfad
el & fore fEeie fasar S 6-

1) To Style HTML Pages/ HTML USll &1 8d & o forg

2) To Execute Query Related to DB on Server/ Jd¥ R DB ¥ Tafdd &3t
feaTied 3 o fore

3) To Perform Server Side Scripting Operation/ &R s i sffReH
B & fow

;) %)_Qadd interactivity to HTML Pages./ HTML UST O SiaRichar=iterd thef

Q 43) Which keyword can be used for coming out of recursion?/ RCEE

TTER A & foIE frg Ppias o1 ST fhar ST Iahdl 82

1) break/ ECY

2) return/ e

3) exit/ Q’ﬁ\kﬂf

4) break and return Both/ 8 3R fred gl Gl

Q 44) To validate an email address, which flag is to be passed to the function

filter var()?/ U i"; 0d Qx%%l A INEECRTED ]%‘I'Q, filter var() B &I
DI Tel¥T U fapa ST =i w?

1) FILTER VALIDATE EMAIL
2) FILTER VALIDATE MAIL
3) VALIDATE EMAIL

4) VALIDATE MAIL

Q 45) How many validation filters like FILTER VALIDATE EMAIL are
currently available?/ FILTER VALIDATE EMAIL \jrlﬁ fobd™ al%‘léQlﬂ
o C . o

heex IqHM | IUdsy 82

1)5
2)6
3)7
4)8

Q 46) In PHP, cookies are set by using which one of the following? / PHP ﬁ,

Hbiel DI FEfeRad # 4 forgds wanT 9 Je b S g2

1) setcookie () function



2) set () function
3) cookie set () function

4) none of these/ STH A DIE Tl

Q 47) Name, value, expire, path, httponly, domain, secure all of these are
arguments of which one of the following? / Name, value, expire, path,

httponly, domain, secure T gt Ffofed 7 9 feoad \?*I'IT@_C' %‘?

1) session () function
2) setcookie () function
3) reset_cookie () function

4) none of these/ ST Y P56

Q 48) Which one of the following is the very first task executed by a session

enabled page?/ fafafad # @ oHar aw= 29 Ul gRT uifed g
TE BT 72

1) Delete the previous session/ U IxF &1 e

2) Start a new session/ Ul R R[> pRAT

3) Check whether a valid session exists/ ST fob o dh a‘ﬂ YA Jﬂ\_ﬂﬁ %
4) Handle the session/ I BT GUTAAT

Q 49) Which one of the following is the default PHP session name?/

fgfefad & T o9 f$hice PHP A 91 82

1) PHPSESSID

2) PHPSESID

3) PHPSESSIONID
4) PHPIDSESS

Q 50) If session.use_cookie is set to 0, this results in use of which of the

following? / afg session.use_cookie 0 UX e %, di 391 givumH fRyfaRad |
< forgd gar 82

1) Session/ I
2) Cookie/ W

3) URL rewriting/ URL J-T0Ra
4) Nothing happens/ P& Tel gial

Q 51) Which one of the following function is used to send an email using PHP

script?/ PHP f&pY &1 IUANT #h HA oM & forg 9 7 ¥ foog thamH
BT IUTNT fHaT STt 82

1) mail_send()
2) send_mail()
3) mailrr()

4) mail()



Q 52) What is the full form of DNS?/ DNS T JUf U T g2

1) Digital Network System/ fefored Aead e
2) Domain Network System/ ST Aeam RieH
3) Digital Name System/ feforeq 70 fen

4) Domain Name System/ S 71 Rer

Q 53) Which one of the following function checks for the existence of DNS

records?/ DNS T &1 tfqe g FRgferfad & 9 o119 91 haRM SiadT 82

1) checkdns()
2) checkdnsr()
3) checkdnsrr()
4) checkdnsa()

Q 54) The Properties window plays an important role in the development of

Visual Basic applications. It is mainly used/ ﬁﬂ&fa SR TR B
ﬁa%%amﬁﬁﬁuﬁﬁﬁw&@@mﬁwﬁ%ma@&ww%

1) to change how objects look and feel./ Ug JGa & AU &1 siissiac foog
UohR fars 9 vetd i

2) when opening programs stored on a hard drive./ HE SIgd IR Tufed TumH
EIRCINRRIEn|

3) to allow the developer to graphically design program components./ STAR

&I UMb &Y W UIH 9h| Bl SOz B3 ! SN o & g

4) to set program related options like Program Name, Program Location, etc./

%‘;WW,W@WW@@W@WWﬁ@EW%

Q 55) Which is private member functions access scope? / l,«ll'iald OTaR HhaRH

TR W1 &1 32

1) Member functions which can only be used within the class/ J AR e
ST o Fod & HiaR g1 T fod ST 9hd §

2) Member functions which can be used outside the class/ J AR HhaRH ol
FA & S8R TRANT {2 S Ghdl §

3) Member functions which are accessible in derived class/ d AR G Sfl
S8 o | ST §

4) Member functions which can’t be accessed inside the class/ TR AR Sfl

F H TR 8 fhd S gad

Q 56) Which of these is the functionality of ‘Encapsulation’?/ E:Iﬁ |
N Y ~
TGN &I fhaTEdmal HI-a! 82




1) Binds together code and data/ PIS 3R ST Bl Uh 1Y STl %

2) Using single interface for general class of actions./ SR ¢f el & B b
foTT Ueh el e BT SUTNT BT

3) Reduce Complexity/ SICTId B HH BRIl

4y All of these/ T g

Q 57) What is ‘Basis of Encapsulation’?/ Q'_ﬁ?—l:{[@l'ﬂ:[ DT TYR KT %?

1) object/ 3fieside

2) class/ aeflY

3) method/ AYS

4y All of these/ T g

Q 58) Which of the following is not OOPS concept in Java?/ fFafaRead @
BT STaT & 0OPS BT RO & 82

1) Inheritance/ 3%‘&?7\‘:[

2) Encapsulation/ QT‘I%GF@W
3) Polymorphism/ PISIGINEIS|

4) Compilation/

Q 59) Which of the following is a type of polymorphism in Java?/ fAgfafad
H Y DY S1G1 H UIHRbeH B Th DR g2

1) Compile time polymorphism/ HIgel CISH PISIGINES|
2) Execution time polymorphism/ TR ORI CTeH UicARtoH
3) Multiple polymorphism/

4) Multilevel polymorphism/ aeiadd q'l?ﬁThTﬁ?Trq

Q 60) What will be the output of the following C code?/ HHfIRId C HIg &1
ST3cYc T SN2 #include void main() { inti=2; do { printf( Hi ); } while (i
<2)}

1) Compile time error/ P HIQA CIgH U
2) Hi Hi

3) Hi

4) Varies/ o B-ﬁT

Q 61) Which of the following variable declaration would NOT compile in a

java program?/ TG # ¥ St INTad fSaaReH Sar uums &
HITEE TG BN

1) int var;

2) int VAR;
3) int varl;
4)int 1_var;.



Q 62) Which programming language doesn’t support multiple inheritance?/

DI UIITTERT HTST Ao It STa Ry DI 5] quIc ddl 87

1) C++ and Java/ C++ 3R SITaT

2) C and C++/ C 3R C++

3) Java and SmallTalk/ SITd[ 3R SmallTalk
4) Java/ SIld[

Q 63) Which of these keywords are used to define an abstract class?/ ﬁ&%ﬂf
~. EN a ¢
I &I IR B & o 398 A o9 q Plas &1 STANT foran Srar g2

1) abst

2) abstract

3) Abstract

4) abstract class

Q 64) If a class inheriting an abstract class does not define all of its function
then it will be known as which of the following? / Zlﬁ Udh QG&E Ic Iy DI
$TeRT B aTdl Fer 3 g thar &1 fSwhre 8] ol &, df 34
fafeiad 7 9 feogd U

1) Abstract/ ﬁ&‘%}ﬁ
2) A simple class/ T Rud &
3) Static class/ wied s

4) None of these/ STH Y BI5 -5

Q 65) Which object can be constructed to show any number of choices in the

visible window? / faforard fdst # foseht +ft faseey &1 few & foru fopyg
3iissiae o1 fratur fbar St b 82

1) Labels/ Aacd

2) Choice/ A1SY

3) List/ fere

4) Checkbox/ dh T

Q 66) Which of these methods are used to register a keyboard event listener?/

PlalS Sac TR B AR B b o1 398 A I I faf) 71 ITa
frar ST 82

1) KeyListener()

2) addKistener()

3) addKeyListener()

4) eventKeyboardListener()

Q 67) When income is reduced or decreased, that amount is recorded on:/ oId



3T HH gid! a1 gedt §, df a8 I R TS gl B

1) Right or debit side of the account/ 3[BTIC & gt a1 Sfde ARe W
2) Left or debit side of the account/ 3BT3C & 911 g1 Sfde aRe R

3) Left or credit side of the account/ 3fHTIc & IRit AT hfse gigs U
4) Right or credit side of the account/ / 3{hT3C & gl a1 hfse ARe W

Q 68) The results of business activities are reflected in which of the following?

/ ST Tfdfaferal & uRums Fafeiad # 3 foad uReférd gld g2

1) profit and loss account/ STY-gT oian
2) profit and loss appropriation account/ ¢ITH 3R g1+ fafaiT @ran
3) balance sheet/ eI YA

4) None of these/ STH AP T8l



Level 2 Answer key

Question No. | Option Question No. | Option Question No. | Option
1 3 31 2 61 4
2 2 32 4 62 4
3 2 33 1 63 2
4 4 34 4 64 1
5 4 35 3 65 3
6 3 36 4 66 3
7 1 37 4 67 2
8 3 38 1 68 3
9 3 39 3

10 3 40 4

11 2 41 1

12 1 42 4

13 1 43 2

14 3 44 1

15 3 45 3

16 1 46 1

17 4 47 2

18 4 48 3

19 4 49 1

20 4 50 3

21 2 51 4

22 3 52 4

23 2 53 3

24 2 54 1

25 3 55 1

26 2 56 1

27 4 57 4

28 4 58 4

29 4 59 1

30 4 60 1




